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QUESTION 1

What can the administrator create to configure a high availability plan for a group of mission critical virtual machines in a
single pool? 

A. Site 

B. vApp 

C. Folder 

D. Secondary Site 

Correct Answer: B 

 

QUESTION 2

An administrator needs to upgrade the existing XenServer pool consisting of four hosts to version 6.0. When can the
administrator use the rolling pool upgrade wizard? 

A. When upgrading from XenServer 5.6 or later 

B. When XenServer workload balancing is enabled 

C. When the XenServer installation media is unavailable 

D. When there are at least three XenServer hosts in the pool 

Correct Answer: A 

 

QUESTION 3

An administrator needs to modify an application contained within a vDisk that is currently being used by multiple target
devices. 

Which option must the administrator select on the vDisk in order to modify the application? 

A. Cache on Server 

B. Private Image mode 

C. Standard Image mode 

D. Cache on Device Hard Disk 

Correct Answer: B 

 

QUESTION 4
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An administrator needs to apply an update to a XenServer pool, but needs to control the update path and the virtual
machine migration. 

What does the administrator need to do to achieve this? 

A. Update all hosts in the pool using the xe CLI. 

B. Use the Install Update wizard to update the pool. 

C. Update each host individually starting with the pool master. 

D. Select manual update mode when updating the pool in XenCenter. 

Correct Answer: C 

 

QUESTION 5

What must be true in order to integrate Active Directory authentication with a XenServer host? 

A. LDAP port 389 is open for inbound traffic to the XenServer host. 

B. The Active Directory administrator account is created locally on the XenServer host. 

C. The same DNS server is used for both the Active Directory server and the XenServer host. 

D. RAS authentication is used for communication between the Active Directory server and the XenServer host. 

Correct Answer: C 

 

QUESTION 6

Scenario: An administrator is planning to introduce 100 new virtual machines into the environment. The administrator
plans to use XenServer templates and duplication mechanisms. 

What must the administrator consider when deciding between the full copy and fast clone duplication mechanisms? 

A. A template needs to be copied before it can be fast cloned. 

B. A virtual machine that is duplicated using the full copy method may impact disk performance. 

C. A virtual machine that is duplicated using the fast cloned method may impact disk performance. 

D. A template created on local storage can be duplicated by using the full copy method by any host in the pool. 

Correct Answer: C 

 

QUESTION 7

An administrator is setting up the XenServer hosts in an environment to boot from SAN. In which BIOS would the
administrator go to enable XenServer to boot from SAN? 
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A. Host 

B. Array controller 

C. Network interface card 

D. Primary host bus adapter 

Correct Answer: D 

 

QUESTION 8

Scenario: An administrator manages six XenServer hosts in a resource pool in which high availability is enabled. The
administrator is notified that host fencing occurred. 

Which two reasons could be causing the issue? (Choose two.) 

A. CPU utilization reached 90%. 

B. The resource pool is overcommitted. 

C. The shared storage repository was disconnected. 

D. There was a XenServer management network outage. 

Correct Answer: CD 

 

QUESTION 9

Scenario: An administrator tries to start a virtual machine on a host that has an NFS storage repository. The virtual
machine gives the error "This virtual machine needs storage that cannot be seen from the server." 

Which action, within XenCenter, can the administrator take on the NFS storage repository to correct this issue? 

A. Repair 

B. Forget 

C. Detach 

D. Set as default 

Correct Answer: A 

 

QUESTION 10

Scenario: An administrator of a pool of XenServers has discovered that NOT all XenServers are showing the same time
in the event logs. NTP is configured and enabled on all XenServers. The servers are in the same location and use the
same NTP server. 

From the console of each XenServer, which command should the administrator type to determine if the date and time
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zone of each server is causing the issue? 

A. date 

B. time 

C. timeutil 

D. tzselect 

Correct Answer: A 

 

QUESTION 11

Scenario: An administrator is creating a vDisk image of a physical Windows server using XenConvert. This vDisk is
going to be used by multiple target devices in Standard Image mode. 

Which two steps does the administrator need to take to prepare the Windows server for physical- to-virtual conversion?
(Choose two.) 

A. Disable Windows Autoplay. 

B. Enable Windows Automount. 

C. Put the server in Standby mode. 

D. Format the hard disk drive of the server. 

Correct Answer: AB 

 

QUESTION 12

Which two policy modes must the administrator apply to implement a XenServer workload balancing policy to reduce
power consumption and energy costs during off peak hours? (Choose two.) 

A. Maximize Density 

B. Fixed Optimization 

C. Maximize Performance 

D. Scheduled Optimization 

Correct Answer: AD 

 

QUESTION 13

Scenario: An administrator is deploying a XenDesktop environment and would like to make use of XenServer
IntelliCache on an existing host to improve performance. The environment is configured with local, iSCSI, and NFS ISO
storage repositories (SRs). NO virtual machines are on the host. 
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What must the administrator do before IntelliCache can be enabled? 

A. Create a new LUN on the iSCSI SR and enable thin provisioning. 

B. Convert the existing NFS ISO SR to NFS VHD with thin provisioning enabled. 

C. Destroy the existing LVM local SR and replace it with a thin provisioned EXT3 SR. 

D. Format the existing iSCSI SR with the EXT2 file system and enable thin provisioning. 

Correct Answer: C 

 

QUESTION 14

An administrator of a Provisioning services environment notices that several of the target devices that are configured to
use a vDisk on the provisioning server are randomly failing to start and shut down. 

What should the administrator check to prevent this issue from occurring? 

A. The SOAP Service is running. 

B. High availability is enabled on the vDisks. 

C. The target devices are configured to start up from hard disk. 

D. All network switch ports have spanning tree protocol disabled. 

Correct Answer: D 

 

QUESTION 15

Scenario: An administrator is making changes to a stand-alone XenServer host and has taken it offline. The virtual
machines on that host will be restored to another host. 

The administrator needs to the virtual machines to meet the requirements of the scenario. (Choose the correct option to
complete the sentence.) 

A. copy 

B. export 

C. protect 

D. migrate 

Correct Answer: B 
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